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EETRRSA = > 7 U — B o 2 shith iR AT

N ey AN S &

(B2 A ]
B XEBE YRR B XJEAE Y AR BaA XS YRR B XJEAE Y AR
s (cm) (cm) FisyEs (cm) (cm) i (cm) (cm) iR (cm) (cm)
1 0.00 0. 00 2 129.90 0. 00 3 64. 95 0. 00
[22 7 U — OIS HEBR] HALIX, IS (kg/cm2) - BAJE (e=6: 1)
FERI 1 SRV < >JERE
ISHE -27.9 0.0 80.0 160.0 240.0  240.0
EHE -121.2 0.0 347.8 1043.3 1987.7 3975.3
L8k DA EHE S
*5 W i (cm2) RO AR (t/cm2) LR (t/cm2)
1 5.07 3.50 2100. 00
[y 7 U= Tmy 7 O]
NO. Ba-1 B2 Bemi-3 B4 I
1 1 2 3 3 1
L8R DO T S OV 1 B4R
av))=p At Es oy X JFEAZE Y A av))=p At Es oy
NO FdiRl) (cm2) (t/cm2) (t/cm2) (cm) (cm)  NO FHRBI (cm2) (t/cm2) (t/cm2)
1 1 5.07  2100.00 3.50 17. 32 10. 00 2 1 5.07  2100. 00 3.50
3 1 5.07  2100.00 3. 50 41.13 51.25 4 1 5.07  2100. 00 3.50
5 1 5.07  2100.00 3.50 64. 95 92. 50 6 1 5.07  2100. 00 3.50
7 1 5.07  2100.00 3. 50 64. 95 10. 00 8 1 5.07  2100. 00 3.50
9 1 5.07  2100.00 3.50 112.58 10.00 10 1 5.07  2100. 00 3.50
11 1 5.07  2100.00 3. 50 88. 76 51.25 12 1 5.07  2100. 00 3.50
Ll 1y DfLE & K& X
) 77 (t)  XEEAE (em) Y A (cm)
1 100. 000 64. 950 37. 500
[FHEAEE (D) ]
0.00 15.00 30.00 45.00 60.00 75.00 90.00 105.00 120.00 135.00
150.00 165.00 180.00
[AHnEt s 1)
FHE S A TR XEEAE (em) Y FEAE (em) HBEHR(p) =7 U — hOB5RY @E
= 0. 00 0. 00 -121.0 45
28T T w7 129. 90 0.00 -121.0 FL T APt
RY SO A/ 64. 95 112. 50 -121.0 L )
EHEAE( 0.008)] Ak
HEEMOL T Mx (tm) My (tm) Mz (tm) ¢x(e6) o¢yle6) ¢z(e6) Xn(em) FR
[FEMEE( 15.000)] A
HEREEMOL Mx (tm) My (tm) Mz(tm) oéx(e6) oyle6) ¢z(e6) Xn(em) FR
2T T w7 16. 45 4. 41 17.04 17.85 4.78 18. 48 0.00
av 7 J— FOUER 16. 46 4. 41 17. 04 17. 86 4.78 18. 49 -27.06
CIRSY SR 7S7i] 2N 29. 64 7.94 30. 69 116. 59 31.24 120. 70 -5.67
av 7 J— Mg KIGT 31.73 8.50 32.85 436. 41 116. 94 451. 81 -4, 40
a7 J— Mg REH 31.80 8. 52 32.92 720. 98 193. 19 746. 42 -5.33
[FEMEE( 30.008)] A
HEREEMOL R Mx (tm) My (tm) Mz(tm) oéx(e6) oyle6) ¢z(e6) Xn(em) FR
2T T w7 12.50 7.21 14. 43 12. 88 7.44 14. 88 0.00
av 7 J— FOUER 12.50 7.22 14. 43 12. 89 7.44 14. 88 -56. 80
CIRSY SR 7S17i] 2N 29.53 17.05 34. 09 62. 24 35.93 71.87 -24. 44
av 7 J— Mg Kt 29. 77 17. 19 34. 38 70. 59 40.76 81.51 -24. 38
av 7 J— Mg REH 31.27 18.05 36. 11 140. 46 81. 09 162. 19 -24.51
[FEMEE( 45.000)] A
HEREMOL Mx (tm) My (tm) Mz(tm) oéx(e6) oyle6) ¢z(e6) Xn(em) FR
2T T w7 9.14 9.14 12.93 9. 44 9. 44 13.35 0.00
av 7 J— FOUER 9.14 9.14 12.93 9. 44 9. 44 13.35 -82. 77
av 7 J— Mg Kt 23.30 23. 30 32.95 31. 36 31.36 44. 35 -44. 77
CIRSY SR 7S7i] 2N 25.37 25. 37 35. 88 42. 44 42. 44 60. 02 -44. 82
a7 Y — Mg REHR 26.98 26. 98 38. 15 64. 91 64. 91 91. 80 -43. 30
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(B ( 60.00)]  AfE

SHE SO L R Mx (tm) My (tm) Mz(tm) ¢x(e—6) o¢yle6) ¢zle6) Xnlem) FEFE(t)
2T T v 6.23 10. 80 12. 47 6. 45 11.16 12. 89 0. 00 -0.01
a7 Y — FOUEIR 6.24 10. 80 12. 47 6.45 11.17 12.89  -103.10 0. 00
av 7 J— Mg KIGT 14.67 25. 41 29. 34 15. 14 26. 22 30. 28 -62. 49 0.01
CIRSY SR 7S17i] 2N 18.56 32.14 37.11 27.77 48.10 55. 54 —65. 65 0. 00
a7 Y — Mg REHR 18. 74 32.45 37.47 31.85 55. 17 63. 70 -62. 41 0.01

[EHempe( 75.000)] At

HESEEOLT Mx(tm) My (tm) Mz(tm) ¢x(e6) o¢y(e6) oéz(e6) Xnlem) FAE(t)
2T T vy 3.35 12.49 12.93 3.46 12.89 13.35 0.00 0.00
av 7 J— hOUEIR 3.35 12. 49 12.93 3.46 12.90 13.35 -116.39 0.00
av 7 J— Mg KIGT 5.39 20.13 20. 84 5.58 20. 82 21.55 -78.38 0. 00
a7 J— Mg REH 8. 84 32.98 34. 14 13.12 48.97 50. 70 -92. 21 0.00
518k Y AT FEIR 9.29 34. 66 35. 88 15. 53 57.97 60. 01 -78. 42 0. 00
[EFEAEE( 90.008)] Ak
HEEMOL T Mx (tm) My (tm) Mz (tm) ¢ x(e=6) ¢y(e6) ¢z(e6) Xn(em) FRE(R)
2RI T Y 0. 00 14. 45 14. 45 0.00 14. 88 14. 88 0.00 0.01
av 7 J— FOUER 0. 00 14. 45 14. 45 0.00 14. 89 14.89 -121.76 0.01
a7 Y — Mg KIGT] 0. 00 16.95 16.95 0.00 17.59 17.59 -89. 39 0.00
a7 Y — Mg REHR 0.00 28. 85 28. 85 0. 00 43.55 43.55  -113.02 0. 00
CIRSY SR 7S17i] 2N 0. 00 34. 09 34. 09 0.00 71.87 71.87 -91. 28 0.00
(BB AEE (105. 00) ] Ak
HEREEMOL Mx (tm) My (tm) Mz(tm) oéx(e6) oy(e6) ¢z(e6) Xn(em) FRZE(L)
a7 Y — MgKIGT] -3.95 14.73 15.24 -4. 08 15. 21 15.75 0.00 -0. 01
2T T v -4. 41 16. 46 17.04 -4.78 17.85 18.48 -118.91 0.01
av 7 J— hOUEIR -4.41 16. 46 17.04 -4.78 17. 86 18. 49 -97.52 0.00
av 7 ) — Mg KEHR -6.35 23.70 24.54  -10.22 38.13 39.47  -126.24 0.00
CIRSY SR 7S7i] 2N -7.94 29. 64 30. 69 -31.24 116. 58 120.69  —100. 71 0.00
[ AEE (120. 00)] Ak
HEREEMOL R Mx (tm) My (tm) Mz(tm) oéx(e6) oy(e6) ¢z(e6) Xn(em) FRZE(L)
a7 Y — Mg KIGT -7.38 12.78 14.75 -7.60 13.17 15.20 -108. 31 0.00
2T T v -10. 57 18. 31 21.14  -14.44 25.01 28.87  -108.30 0.00
3T v -10. 57 18.31 21.14  -14.44 25.01 28. 87 0.00 0.00
av 7 J— FOUER -10. 57 18. 31 21. 14 -14. 44 25.01 28.88 -130.75 0. 00
a7 J— Mg REH -11.79 20. 42 23. 58 -19. 24 33.33 38.49  -103.28 0.00
(AR (135.00)] Ak
HEREEMOL R Mx (tm) My (tm) Mz(tm) oéx(e6) oy(e6) ¢z(e6) Xn(em) FRZE(L)
a7 Y — MMgKIGT -10.78 10. 78 15.24 -11.13 11.13 15.74 0.00 -0. 01
3T vy -12.05 12.05 17.04  -13.07 13.07 18. 48 -97.52 0.00
a7 Y — Mg KREHR -17.35 17. 35 24. 53 -27.91 27.91 39.47 -126.25 0. 00
CIRSY SR 7S7i] 2N -21.70 21.70 30. 69 -85. 34 85. 35 120.70  -100.71 0.00
[ AEE (150. 00) ] Ak
HEREEMOL R Mx (tm) My (tm) Mz(tm) oéx(e6) oy(e6) ¢z(e6) Xn(em) FRZE(L)
3T v -12.51 7.23 14. 45 -12.88 7.44 14. 87 0.00 0.00
av 7 J— Mg Kt -14.70 8.49 16. 98 -15. 24 8. 80 17.59 -89. 38 0. 00
a7 J— Mg REH -25.01 14. 44 28. 88 -37.72 21.78 43.56  -112.97 0.00
GIRSY SR 75 111N -29. 54 17.05 34. 11 -62. 21 35. 92 71.83 -91. 27 0. 00
(B (165, 00) ] AfE
HEEMOL T Mx (tm) My (tm) Mz (tm) ¢ x(e=6) ¢y(e6) ¢z(e6) Xn(em) FRE(R)
ST T v -12. 49 3.35 12.93 -12. 89 3.45 13.35 0.00 0.00
a7 Y — MMgKIGT] -20. 14 5. 40 20. 85 -20. 82 5.58 21.56 -78. 39 0.00
av 7 ) — Mg KEHR -32.99 8.84 34. 15 -48. 97 13.12 50. 69 -92.21 0.01
CIRSY SR 7S7i] 2N -34. 67 9.29 35. 89 -57. 96 15. 53 60. 01 -78.42 0.00

(BB (180.008)] Ak
HESEEOL Mx (tm) My (tm) Mz (tm) ¢x(e6) ¢yle6) ¢zle6) Knlem) FRE()



EETRRSA = > 7 U — B o 2 shith iR AT
U475 Ok

(42 A ]
BN XEEAE YRS B XJEAE Y AR BaA XS YRR B XJEAE Y AR
s (cm) (cm) FisyEs (cm) (cm) i (cm) (cm) HEH (cm) (cm)
1 0. 00 0. 00 2 72. 65 0.00 3 72.65 72.65 4 0.00 72.65
= )~— k D717 AR ] HALIX, IS (kg/cm2) - BAJE (e=6: 1)
I SRV < > e
rmrg -27.9 0.0 80.0 160.0 240.0 240.0
EARE -121.2 0.0 347.8 1043.3 1987.7 3975.3
L8k DA EHE S
*5 W i (cm2) RO AR (t/cm2) LR (t/cm2)
1 5.07 3.50 2100. 00
[y — h7“u /7@%%
NO. B A a2 Bemi-3 B4 I
1 1 2 3 4 1
L8R DO T S OV 1 B4R
av))=p At Es oy X JHE Y A ay))-} At Es oy X A Y FEFE
NO FdiRl) (cm2) (t/cm2) (t/cm2) (cm) (cm)  NO FHRBI (cm2) (t/cm2) (t/cm2) (cm) (cm)
1 1 5.07  2100.00 3.50 10. 00 10. 00 2 1 5.07  2100. 00 3.50 27.55 10. 00
3 1 5.07  2100.00 3.50 45.10 10. 00 4 1 5.07  2100. 00 3.50 62. 65 10. 00
5 1 5.07  2100.00 3.50 10. 00 62. 65 6 1 5.07  2100. 00 3.50 27.55 62. 65
7 1 5.07  2100.00 3.50 45.10 62. 65 8 1 5.07  2100. 00 3.50 62. 65 62. 65
9 1 5.07  2100.00 3.50 10. 00 27.55 10 1 5.07  2100. 00 3.50 62. 65 27.55
11 1 5.07  2100.00 3.50 10. 00 45.10 12 1 5.07  2100. 00 3.50 62. 65 45.10
[@m@u LRE ]
) 77 (t)  XEEAE (em) Y A (cm)
1 100. 000 36. 325 36. 325
FHEARE () ]
0.00 15.00 30.00 45.00 60.00 75.00 90.00 105.00 120.00 135.00
150.00 165.00 180.00
[AHnEt s 1)
FHE S A TR XEEAE (em) Y FEAE (em) HBEHR(p) =7 U — hOB5RY @E
,.\77 v 7 0. 00 0. 00 -121.0 45
,.\77 v 7 72. 65 0.00 -121.0 FL T APt
RIT vy 72.65 72.65 -121.0 L )
,.\77 v 7 0. 00 72.65 -121.0 45
ﬁ@ ( 0.00)] [OfE
B0 L4 TR Mx (tm) My (tm) Mz(tm) oéx(e6) oy(e6) ¢z(e6) Xn(em) FRZE(L)
7 Ty 21.89 0.00 21.89 4. 89 0. 00 4. 89 0.00 -0. 01
R T vy 21.89 0.00 21.89 4. 89 0. 00 4. 89 0. 00 -0.01
= /7 U — F O 21.90 0.00 21.90 4.90 0. 00 4.90 24.75 -0. 01
GIRSY SR 75 111N 72.72 0.00 72.72 43. 63 0. 00 43. 63 48. 20 -0.01
av 7 U— MKt/ 85. 92 0.00 85. 92 108. 33 0. 00 108. 33 54. 30 0.00
a7 Y — Mg REHR 90. 57 0. 00 90. 57 282. 45 0. 00 282. 45 58. 58 0. 00
SR ( 15.008)] O
7t kk*fﬁF@% N Mx (tm) My (tm) Mz (tm) ¢ x(e=6) ¢y(e6) ¢z(e6) Xn(em) FRE(R)
R T vy 19. 37 5.19 20. 05 4.02 1.08 4.16 0. 00 0. 00
= /7 U — FOUEIR 19. 38 5.19 20. 06 4.02 1.08 4.16 0.00 0.00
R T vy 24.08 6. 45 24.93 6.09 1.63 6. 30 10. 31 0. 00
%lo%E UE7SiEON 64. 59 17.31 66. 86 37.02 9.92 38. 33 36. 93 0.00
av 7 J— Mg Kt 78.15 20. 94 80. 91 64. 07 17.17 66. 33 40. 20 0. 00
av 7 J— Mg REH 86. 56 23.19 89. 62 152. 46 40. 85 157. 84 44. 98 0.00
ﬁ@ ( 30.000)] 4
B0 L4 TR Mx (tm) My (tm) Mz(tm) oéx(e6) oy(e6) ¢z(e6) Xn(em) FRZE(L)
2&7 Ty 16.24 9. 37 18.75 3.28 1.90 3.79 -4.41 0.00
av 7 J— FOUER 16. 25 9.38 18. 76 3.29 1.90 3.80 28.13 0. 00
R T vy 26. 47 15. 28 30. 56 8.11 4.68 9. 37 0. 00 -0.01
%lo%E UE7Si1EON 56. 15 32. 42 64. 83 31. 10 17.96 35.91 -4.38 0.00
av 7 J— Mg Kt 67.80 39. 14 78. 29 46. 32 26. 74 53. 49 23.75 0. 00
INT T v T 74.81 43.19 86. 38 68. 04 39. 28 78. 56 25.76 0.00
a7 Y — Mg KREHR 78. 41 45. 27 90. 54 105. 46 60. 89 121. 77 30. 27 0. 00



[Ehempe ( 45.008)] Ot

SHE SO L R Mx (tm) My (tm) Mz(tm) ¢x(e—6) o¢yle6) ¢zle6) Xnlem) FEFE(t)
2T T v 12.88 12.88 18.22 2. 60 2. 60 3. 67 -18. 44 0. 00
a7 Y — FOUEIR 12.89 12.89 18.23 2.60 2. 60 3.68 6. 46 0. 00
ST T v 31.01 31.01 43. 86 13.24 13.24 18.72 0.00 -0.01
-/ 31.01 31.01 43. 86 13.24 13.24 18.72 -18. 42 0. 00
GIRSY SR 75 111N 45. 65 45. 65 64. 56 24. 89 24. 89 35. 20 10. 12 0.00
av 7 U— MKt/ 54. 28 54. 28 76. 77 35. 71 35.71 50. 51 12.02 0.00
a7 Y — Mg REHR 64. 77 64. 77 91. 60 79. 82 79. 82 112.88 16. 15 0. 00
[EFEmE( 60.008)] Ok
HEEMOL T Mx (tm) My (tm) Mz (tm) ¢ x(e=6) ¢y(e6) ¢z(e6) Xn(em) FRE(R)
2T T v 9.37 16. 24 18.75 1. 90 3.28 3.79 -31.00 0. 00
a7 Y — FOOEIR 9.38 16. 25 18.76 1. 90 3.29 3.79 -13. 68 0. 00
ST T v 15. 28 26. 47 30. 56 4. 68 8.11 9. 37 0. 00 0. 00
CIRSY SR 7S17i] 2N 32. 42 56. 15 64. 84 17.95 31. 10 35.91 -30. 98 0.00
av 7 J— Mg Kt 39. 15 67. 80 78. 29 26. 74 46. 32 53. 49 -2.84 0. 00
-/ 43.19 74. 80 86. 38 39. 27 68.02 78. 54 -0. 83 -0.01
av 7 J— Mg REH 45. 27 78. 41 90. 54 60. 89 105. 46 121.77 3.68 0.00
[FEmEE( 75.0008)] O
HEREEMOL Mx (tm) My (tm) Mz(tm) oéx(e6) oy(e6) ¢z(e6) Xn(em) FRZE(L)
2T T w7 5.19 19. 37 20. 05 1.08 4.02 4.16 -32. 17 0. 00
av 7 J— FOUER 5.19 19. 38 20. 06 1.08 4.02 4. 16 0. 00 0. 00
RY =/ /4 6. 45 24. 08 24.93 1.63 6.09 6. 30 -41. 06 0. 00
518k Y AT IR 17.31 64. 59 66. 86 9.92 37. 02 38.33 -14. 44 0. 00
av 7 J— MKt/ 20. 94 78. 15 80.91 17.17 64. 06 66. 32 -11.17 0.00
a7 Y — Mg REHR 23. 20 86. 57 89. 62 40. 85 152. 45 157. 83 -6. 39 0. 00
[EFEmEE( 90.008)] Ok
SHE SO L R Mx (tm) My (tm) Mz (tm) ¢x(e—6) o¢yle6) ¢zle6) Xnlem) FEFE(L)
2T T v 0. 00 21.89 21.89 0.00 4.89 4.89 -47.92 -0.01
INT T v T 0. 00 21.89 21.89 0.00 4. 89 4. 89 0. 00 -0.01
av 7 J— FOUER 0.00 21.90 21.90 0. 00 4.90 4.90 -47.90 -0.01
CIRSY SR 7S7i] 2N 0. 00 72.72 72.72 0.00 43.63 43.63 -24. 45 -0.01
av 7 J— Mg KIGT 0.00 85.92 85.92 0. 00 108. 33 108. 33 -18.35 0. 00
av 7 J— Mg REH 0. 00 90. 57 90. 57 0.00 282. 45 282. 45 -14. 07 0.00
(B AR (105. 00) ] Ok
HEREEMOL R Mx (tm) My (tm) Mz(tm) oéx(e6) oy(e6) ¢z(e6) Xn(em) FRZE(L)
INT T v T -5.19 19. 37 20. 05 -1.08 4.02 4.16 -59. 89 0. 00
av 7 J— FOUER -5.19 19. 38 20. 06 -1.08 4.02 4. 16 0. 00 0. 00
2T T w7 -6. 45 24. 08 24.93 -1.63 6.09 6. 30 -59. 87 0. 00
CIRSY SR 7S17i] 2N -17.31 64. 59 66. 87 -9.92 37. 02 38.33 -33. 24 0. 00
av 7 J— Mg Kt -20. 94 78. 16 80. 92 -17. 16 64. 06 66. 32 -29.97 0. 00
a7 J— Mg REHR -23.20 86. 57 89. 63 -40. 85 152. 44 157. 82 -25.19 0.00
(B A EE (120. 00) ] Ok
HEREEMOL R Mx (tm) My (tm) Mz(tm) oéx(e6) oy(e6) ¢z(e6) Xn(em) FRZE(L)
INT T v T -9. 37 16. 24 18.75 -1.90 3.28 3.79 -50. 00 0. 00
av 7 J— FOUER -9. 38 16. 25 18. 76 -1.90 3.29 3.80 -67. 33 0. 00
2T T w7 -15.28 26. 47 30. 56 -4. 68 8. 11 9. 37 -34.78 -0.01
GIRSY SR 75 111N -32. 42 56. 15 64. 83 -17.96 31. 10 35.91 -67. 30 0. 00
av 7 U— MKt/ -39. 14 67. 80 78.29 -26. 75 46. 33 53. 49 -39. 17 0.00
AT T v -43. 19 74. 80 86. 37 -39. 28 68. 04 78. 57 -37. 16 0. 00
a7 J— Mg REH -45. 27 78. 41 90. 54 -60. 89 105. 47 121.79 -32. 64 0.00

(BB AR (135.00) ] Ok

HEREEMOL R Mx (tm) My (tm) Mz(tm) oéx(e6) oy(e6) ¢z(e6) Xn(em) FRZE(L)
RY =/ /4 -12.88 12.88 18.22 -2.60 2.60 3.67 -44. 91 0. 00
av 7 J— FOUER -12. 89 12. 89 18.23 -2. 60 2.60 3.68 -69. 81 0. 00
ART T w7 -31.02 31.02 43.86 -13.24 13. 24 18.72 -44. 91 0. 00
2T T v -31.02 31. 02 43. 86 -13.24 13.24 18.72 -69. 79 0.01
CIRSY SR 7S7i] 2N -45. 65 45. 65 64. 56 -24.89 24. 89 35. 20 -41. 25 0. 00
av 7 J— Mg Kt -54. 28 54. 28 76. 77 -35. 71 35.71 50. 51 -39. 35 0. 00
av 7 J— Mg REH -64. 77 64. 77 91. 60 -79. 82 79. 82 112.88 -35. 22 0. 00



[EHE e (150, 008) ] Ot

SHE SO L R Mx (tm) My (tm) Mz(tm) ¢x(e—6) o¢yle6) ¢zle6) Xnlem) FEFE(t)
ST T v -16.23 9.37 18.75 -3.28 1.90 3.79 -34. 79 0. 00
a7 Y — FOUEIR -16. 24 9.38 18.76 -3.29 1.90 3.80 —67. 33 0. 00
AT T v -26. 47 15. 28 30. 56 -8.11 4.69 9.37 -50. 00 -0.01
CIRSY SR 7S17i] 2N -56. 14 32. 42 64. 83 -31. 10 17.96 35.91 —67. 30 0. 00
av 7 J— Mg KIET -67. 80 39. 14 78. 29 -46. 32 26.75 53. 49 -39. 17 0. 00
2T T w7 -74. 80 43.19 86. 37 -68. 04 39. 28 78. 57 -37. 16 -0.01
a7 Y — Mg REHR ~78. 40 45. 27 90.53  -105. 46 60. 89 121.78 -32. 64 0. 00
[Ehe B (165, 00) ] Ot
HEEMOL T Mx (tm) My (tm) Mz (tm) ¢ x(e=6) ¢y(e6) ¢z(e6) Xn(em) FRE(R)
ST T v -19. 37 5.19 20. 05 -4. 02 1.08 4.16 -59. 89 0. 00
a7 Y — FOOEIR -19.38 5.19 20. 06 -4. 02 1.08 4.16 -50. 97 0. 00
AT T v -24.08 6.45 24.93 -6.09 1.63 6. 30 -59. 87 0. 00
CIRSY SR 7S17i] 2N —64. 59 17.31 66. 87 -37.02 9.92 38.33 -33.25 0. 00
av 7 J— Mg Kt -78. 16 20.94 80. 92 -64. 06 17. 17 66. 32 -29.97 0. 00
av 7 J— Mg REH -86. 57 23.20 89.63  —152.44 40. 85 157. 82 -25. 19 0. 00
[EHE e (180. 004) ] O
SHEL SO L R Mx (tm) My (tm) Mz(tm) ¢x(e—6) o¢yle6) ¢z(e6) Xnl(em) FEFE(t)
ST T v -21.89 0.00 21.89 -4.89 0. 00 4.89 —47. 92 -0.01
ART T w7 -21.89 0.00 21.89 -4. 89 0. 00 4. 89 —47. 92 -0.01
av 7 J— FOUER -21.90 0. 00 21.90 -4. 90 0. 00 4.90 -47.90 -0.01
CIRSY R 7S17i] 2N -72.72 0.00 72.72 -43. 63 0. 00 43.63 -24. 45 -0.01
av 7 J— Mg KIGT -85.92 0. 00 85.92  -108.32 0. 00 108. 32 -18.35 0. 00
a7 J— Mg REH -90. 57 0.00 90.57 —282.44 0. 00 282. 44 -14. 07 0. 00



